1. Factor the following quadratic polynomial. 18¢% — 9¢¢ — 204>
A. (3q — ¢)(6g + 209)

B. (3¢ + ¢)(6¢ — 209)

C. (3¢ — 4¢)(6q — 5¢)

D. (3¢ +4¢)(6q — 5¢)

E. (3¢ — 4¢)(6¢ + 5¢)

F. Not factorable. This trinomial is prime.

G. (18¢ — 4¢)(q + 5¢)

H. (18¢ + 4¢)(q — 5¢)

2. Factor the following quadratic polynomial. 20y + 67yw — 18w?
A. (20y — 3w)(y + 6w)

B. (4y + 3w)(5y — 6w)

C. (4y + w)(by — 18w)

D. (4y — 3w)(5y — 6w)

E. (dy — w)(by + 18w)

F. (4y — 3w)(5y + 6w)

G. Not factorable. This trinomial is prime.

H. (20y + 3w)(y — 6w)



3. Factor the following quadratic polynomial. 24a2 — 86at — 15¢t2
A. (6 + 5t) (4o — 3t)

B. (24 + 5t)(« — 3t)

C. (6a — 5t) (4o + 3t)

D. Not factorable. This trinomial is prime.

E. (6a —t)(4a + 15t)

F. (24a — 5t) (o + 3t)

G. (6a — 5t)(4a — 3t)

H. (6 + t)(4a — 15¢)

4. Factor the following quadratic polynomial. 45v2 + 92va + 32a>

A. Not factorable. This trinomial is prime.
B. (9v + a)(5v + 32a)
C. (4v + 5a)(8v + Ta)
D. (2v + 4a)(6v + 8a)
E. (9v 4+ 7a)(5v + 3a)
F. (45v + 4a)(v + 8a)
G. (2v + 7a)(6v + 3a)

H. (9v + 4a)(5v + 8a)



5. Factor the following quadratic polynomial. 1222 4+ 37z — 10
A. (4z+1)(3z — 10)

B. (122 +2)(z - 5)

C. (122 — 2)(z + 5)

D. (42— 2)(32+5)

E. (424 2)(3z —5)

F. Not factorable. This trinomial is prime.

G. (42— 1)(3z 4+ 10)

H. (4z — 2)(3z — 5)

6. Factor the following quadratic polynomial. 4082 + 84 — 1
A. Not factorable. This trinomial is prime.

B. (408 +1)(B+1)

C.(568+1)(83+1)

D. (26 —1)(208 — 1)

E. (48 —1)(108 - 1)

F. (408 -1)(8+1)

G. (56 -1)(86+1)

H. (26 +1)(208 — 1)



7. Factor the following quadratic polynomial. 6u? — 31u — 30
A. (6u —5)(u—+6)

B. (2u —5)(3u + 6)

C. (2u+1)(3u — 30)

D. (6u + 5)(u — 6)

E. (2u+5)(3u—6)

F. (2u — 1)(3u + 30)

G. Not factorable. This trinomial is prime.

H. (2u — 5)(3u — 6)

8. Factor the following quadratic polynomial. 8b% + 14ba — 15a2
A, (2b+ a)(4b — 15)

B. (2b+ 50)(4b — 3a)

C. (2b — a)(4b + 15a)

D. (2b — 5a)(4b — 3a)

E. (80 + 5a)(b — 3«)

F. (2b — 5a)(4b + 3«)

G. (8 — ba) (b + 3a)

H. Not factorable. This trinomial is prime.



